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SX-9

o1 16CPU
® T
® SX9 128CPU 8 (8
2RO a—B8X-9 ATF::rrree 102.4¥JFLOPS
£10/—-F 1/)—-F&HED

ROMLZ OV 16CPU
HEMBAEY----- 1735)\1 b
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SX-9 CPU

GH GFLOPS/CPU
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ftrace

® outerunroll
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super/

i—— practice 1

i—— practice 2 ftrace
i—— practice. 3  outerunroll

i—— practice 4

i—— practice 5

"—— practice 6
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v MFLOPS GF
VLEN

V.Op.Ratio

MFLOPS VLEN V.Op.Ratio

v
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® practice 1
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O -V

® SX-9 (-cfsx9)
O -R2

® —Wf, —pvctl fulimsg

Page 9

sxf90 -V -Cvopt —cfsx9 -R2 -Wf,—pvctl fullmsg mat_tuneO.f

% ./comp.sx.sh




I mat_tuneO.L

25 do j=1,n
26 do k=1,n
27 do i1=1,n
28 a(i,j)=a(i,j)+b(i,k)*c(k,j)
29 enddo
30 enddo
do k =1, 2048, 4 a
Icdir nodep
Icdir on_adb(a,b) 174
do i =1, 2048
a(i,j) = a(i,j) + b(@i.k)*dble(c(k,j)) + b(i.k+l)*dble(c(k+l,
1 D) + b(i.k+2)*dble(c(k+2,j)) + b(i.k+3)*dble(c(k+3.]))
enddo
. enddo
31 enddo
V
I mat_tuneO.L ,
: do j=1,n
do k=1,n
do 1=1,n
a(i,y)=a(i,j)+b(i,k)*c(k,j)
enddo
enddo
enddo
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I (run.sx.sh)

#1/bin/csh

#PBS -q PCC Pd(?f;

#PBS -1 cpunum_job=1,elapstim_req=0:10:00,memsz_job=1GB @

#PBS -Jj 0 -N pl-sx-sample - CPU
_jo

cd $PBS_O_WORKDIR
-N

timex ./a.out

% gsub run.sx.sh
Request 14620.sx9 submitted to queue: DBG9.
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1 pl-sx—sample.o*****) GFLOPS

*xkx*k*  Program Information ******

Real Time (sec) : 0.520426
User Time (sec) : 0.516751
Sys Time (sec) : 0.003175
Vector Time (sec) : 0.516180
Inst. Count : 232350334.
V. Inst. Count : 117679771.
V. Element Count : 30126016250.
FLOP Count : 17179869353.
MOPS : 58520.809467
MFLOPS : 33245.933444
A. V. Length : 255.999956
V. Op. Ratio (%) : 99.620807
Memory Size (MB) : 256.031250
MIPS : 449.636932
I-Cache (sec) : 0.000162
0-Cache (sec) : 0.000182
Bank Conflict Time

CPU Port Conf. (sec) : 0.003185

Memory Network Conf. (sec) : 0.126729
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ftrace

O ftrace

O ftrace_region

O —ftrace
O

® practice 2
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ftrace

| mat_tuneO.f ftrace_region

ftrace

® call ftrace region begin/end

CX

241
2
27
28
29

30

323

tl=etime(cpl)
call ftrace reqgion begin("Main-loop®)

do j=1,n
do k=1,n
do 1=1,n
a(i,j)=a(i,j)+b(i,k)*c(k,J)
enddo
enddo
enddo
call ftrace region end("Main-1oop™)
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ftrace

| -ftrace comp.sx.sh

sxf90 -V -Cvopt -cfsx9 -R2 -Wf,—pvctl fullmsg mat tuneO.f —ftrace

® -ftrace

—ftrace
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ftrace

® % ./comp.sx.sh

® % gsub run.sx.sh
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ftrace

Execution Date :
Total CPU Time

Thu May 10 16:57:42 2012
: 0:00"00"526 (0.526 sec.)

p2-sx—-sample.o*****) _,

GFLOPS

ftrace

PROC.NAME FREQUENCY EXCLUSIVE AVER.TIME MOPS  MFLOPS V.OP AVER. VECTOR I-CACHHE O-CACHE  BANK CONFLICT

TIME[sec]( % ) [msec] RATIO V.LEN TIME MIS MISS CPU PORT NETWORK
main_ 1 0.526(100.0) 525.576 57538.1 32687.7 99.62 256.0 0.525 0.00 0.000 0.004 0.154
total 1 0.526(100.0) 525.576 57538.1 32687.7 99.62 256.0 0.525 0.0 0.000 0.004 0.154
Main-loop 1 0.525( 99.8) 524.600 57552.0 32748.5 99.62 256.0 0.525 0.000 0.000 0.004 0.154
matrix_size = 2048

p_name 1 user(sec); moda check

mat_tune0.f_ 0.525 | 0

32.744 (GFlops)
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outerunroll

® practice 3
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outerunroll

| mat_tuneO.f mat_tune.f mat_tune.f
® % cp mat_tuneO.f mat tune.f
® % vi mat_tune.f

1 8 outerunroll

/

25 do j=1,n A{//,
26 lcdir outerunroll=8

27 do k=1,n

28 do 1=1,n

29 a(1,j)=a(1,J)+b(1,k)*c(k,J)
30 enddo

31 enddo

32 enddo
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outerunroll

® % ./comp.sx.sh

mat_tune.L
26 lcdir outerunroll=8
27 do k=1,n
28 do i=1,n
29 a(i,j)=a(i,j)+b(i,k)*c(k,j)
30 enddo
31 enddo
do k = 1, 2048, 8
Icdir nodep
Icdir on_adb(a,b)
do i =1, 2048
a(i,j) = a(i,j) + b(i,k)*dble(c(k,j)) + b(i,k+1)*dble(c(k+l,
1 §)) + b(i,k+2)*dble(c(k+2,})) + b(i,k+3)*dble(c(k+3,}))
2 + b(i,k+4)*dble(c(k+4,j)) + b(i,k+5)*dble(c(k+5,j)) + b(
3 i,k+6)*dble(c(k+6,j)) + b(i,k+7)*dble(c(k+7,}))
enddo
) enddo
32 enddo

® % gsub run.sx.sh
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outerunroll

p3-sx—sample.g****¥*)

GFLOPS

*****k* - Program Information

*kkkikkk

Real Time (sec) 0.473364
User Time (sec) 0.469779
Sys Time (sec) 0.003154
Vector Time (sec) 0.469206
Inst. Count 187710097 .
V. Inst. Count 109291163.
V. Element Count 27978532602.
FLOP Count 17179869353.
MOPS 59723.724424
MFLOPS 36570.109249
A. V. Length 255.999953
V. Op. Ratio (%) 99.720501
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® practice 4
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sxf90 -V -Cvopt -cfsx9 -R2 -Wf,—pvctl fullmsg mat tunel.f mul.f

® % ./comp.sx.sh

mat tunel.L

27
28
28

25:
26:
27
28:
29:
30:
31:

vec (

LINE LEVEL( NO.): DIAGNOSTIC MESSAGE
3): Unvectorized loop.

opt (1017): Subroutine call prevents optimization.

vec ( 10): Vectorization obstructive procedure reference.:mul

bt >
1

g t————- >
1
nt-—-—->
11

1

1
nt-—--
1

1 t-——--
+

do j=1,n
do k=1,n
do 1=1,n
call mul(n, moda, 1, j, k, a, b, ¢)
enddo
enddo
enddo
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® % gsub run.sx.sh

p4-sx—sample.g****¥*)

GFLOPS

Fxk*k*%k Program Information

Real Time (sec) 159.258982
User Time (sec) 159.199437
Sys Time (sec) 0.027252
Vector Time (sec) 0.000201
Inst. Count 76243183724.
V. Inst. Count 49051.
V. Element Count 12551930.
FLOP Count 2147483815.
MOPS 478.994700
MELOPS 13.489268
A. V. Length 255.895497
V. Op. Ratio (%) 0.016460
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I —pi expin=mul.f comp.sx.sh

sxf90 -V -Cvopt -cfsx9 -R2 -Wf,—pvctl fullmsg mat tunel.f mul.f —pi expin=mul.f

® —pi
® expin=filename.f filename.f
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® % ./comp.sx.sh

Page 26

27
27
27
28

vec
vec
vec
opt

31

25:
26:
27:
28:
29:
30:

31: +

Icdir on

( 1): Vectorized loop.

( 29): ADB
( 29): ADB

is used for array.: a
is used for array.: b

(1222): Procedure “mul” expanded inline.

do k =1
nodep
ad

do

a(

enddo
enddo
enddo
------ >
(V/— >
V-
n Al
V-
|V

, 1024, 4

b(a,b)

= 1, 1024
i,j) = a(i,j) + b(i,k)*dble(c(k,j)) + b(i,k+1)*dble(c(k+1,
i) + b(i,k+2)*dole(c(k+2,J)) + b(i,k+3)*dble(c(k+3,j))

do j=1,n
do k=1,n
do i=1,n
call mul(n, moda, 1, j, k, a, b, ¢)
enddo
enddo
enddo




® % gsub run.sx.sh

p4-sx—sample.g****¥*)

GFLOPS

**k**%k Program Information

*khkkkkk

Real Time (sec) 0.068940
User Time (sec) 0.065116
Sys Time (sec) 0.003401
Vector Time (sec) 0.064488
Inst. Count 30866545 .
V. Inst. Count 14741403.
V. Element Count 3773794042.
FLOP Count 2147483816.
MOPS 58202.579765
MFLOPS 32979.357086
A. V. Length 255.999652
V. Op. Ratio (%) 99.574525
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® practice 5
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| mat_tuneO.f mat_tune.f mat_tune.f
® % cp mat_tuneO.f mat tune.f

® % vi mat_tune.f C real(4) real(8)
4 implicit real(8)(a-h,0-2z)
5 parameter ( n=2048 , moda=0 )
6 real (8) a(n+moda,n),b(n+moda,n)
7 real(4) c(n+moda,n)

S— S

implicit real(8)(a-h,0-2)
parameter ( n=2048 , moda=0 )
real (8) a(n+moda,n),b(n+moda,n)
real (8) c(n+moda,n)

~N o o1 b~

® % ./comp.sx.sh
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mat_tune.L

28

opt (1800): Idiom detected (matrix multiply).

25
26
27
28
29
30
31

do j=1,n
do k=1,n
do i1=1,n
a(i,j)=a(i,j)+b(i,k)*c(k,j)
enddo
enddo
enddo
call vdmxga (b, 1, 2048, c, 1, 2048, a, 1, 2048, 2048, 2048, 2048)

Fmmmo o > do j=1,n

1o > do k=1,n

V=== do i1=1,n

1k a(i,j)=a(i,j)+b(i,k)*c(k,j)
MV-—-- enddo

1o enddo

Fmmoo - enddo




® % gsub run.sx.sh
pP5-sx—sample.g****¥*)

GFLOPS

**xk*%  Program Information

*kkkhkik

Real Time (sec) 0.181327
User Time (sec) 0.177855
Sys Time (sec) 0.003060
Vector Time (sec) 0.177299
Inst. Count 134070619.
V. Inst. Count 85247643.
V. Element Count 21798225658.
FLOP Count 17179869353.
MOPS 122836.291552
MFLOPS 96594 .806741
A. V. Length 255.704731
V. Op. Ratio (%) 99.776524
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® practice 6
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sxfo90 -V -Cvopt -cfsx9 -R2 -Wf,—pvctl fullmsg mat_tuneO.f

O —-Pauto

sxf90 -V -Cvopt -cfsx9 -R2 -Wf,—pvctl fullmsg mat_tuneO.f —Pauto

® % ./comp.sx.sh
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® DO

® ) 1,2,3...
25 mul ( 10): Parallel routine generated : main_$2
o5 do j=1,n 1): Parallelized by PARDO.
26 do k=1,n )
27 do i=t,n | 2Bf P do j=1,n
28 a(i.j)=a(i.p)(i.* ki) | P do k=1,n
29 enddo do '?1Zn . . .
30 enddo a(i,j)=a(d,j)+b(i,k)*c(k,j)
31 enddo enddo
call min_$2 (a, b,c) | X VT CelEle
—————— enddo
LINE FORTRAN STATEMENT a—
subroutine main_$2
Icdir pardo for, nobarr = (entry,exit)
Tcdir nodep
do j = 1, 2048
do k = 1, 512
edir nodep F)
Iedir on_adb(a,b)
do i =1, 2048
a(i,j) = a(i,j) + b(i,(k-1)*4+1)*dble(c((k-1)*4+1,j)) + b
1 (i, (k-1)*4+2)*dble(c((k-1)*4+2,j)) + b(i,(k-1)*4+3)*
2 dble(c((k-1)*4+3,3)) + b(i, (k-1)*4+4)*dble(c((k-1)*4+4
3 1))
enddo
enddo
enddo
end
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® % gsub run.sx.sh
P6-sx—sample.g****¥*)

Page 35

122GFLOPS
*xkx*x%x  Program Information ******
Real Time (sec) 0.150634
User Time (sec) 0.547443
Sys Time (sec) 0.015307
Vector Time (sec) 0.538167
Inst. Count 232565343.
V. Inst. Count 117679803.
V. Element Count 30126022196.
FLOP Count 17179869389.
MOPS 55240.285721
MFLOPS 31382.024045
MOPS  (concurrent) 215354.268045
MFLOPS (concurrent) 122342 .828783
A. V. Length 255.999937
V. Op. Ratio (%) 99.620099
Memory Size (MB) 512.000000
Max Concurrent Proc.
Conc. Time(>= 1) (sec) 0.140424
Conc. Time(>= 2) (sec) 0.137214
Conc. Time(>= 3) (sec) 0.136968
Conc. Time(>= 4) (sec) 0.135452

4.




-V
-R 2
5
fmtlist
-Wf, —L [/ist] summary
obijlist
-Wf, —pvctl fullmsg
-C vopt
hopt
vsafe
ssafe
-0 extendreorder
-pi auto
noauto
line=a
nest=f
exp=
expin=
-Wf
—pvctl chgpwr R1**R2 EXP(R2*LOG(R1))
—pvctl expand=n n
—pvctl noloopchg
—P auto
—-P openmp OpenMP ( )
-e C
R
-Wf —init stack=zero 0
—init heap=zero 0
—ftrace SX FTRACE
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vector/novector DO /
nodep DO
/
outerunroll=n]
loopchg/noloopchg
expand[=n] DO /
shortloop DO (256)

D
select(vector;concur) 0

on_adb[( )1 ADB
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® ASL/SX
o FFT

® Mathkeisan
 BLAS
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I SX-9

O —Cvopt

® SX-9 (-cfsx9)

O -R2

O —pvctl fullmsg

sxf90 -V -Cvopt -cfsx9 -R2 -Wf,-pvctl fullmsg “

i —Chopt —Cvopt

sxf90 -V —-Chopt -cfsx9 -R2 -Wf,—pvctl fullmsg “
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O —Cvsafe

sxf90 -V -Cvsafe -cfsx9 -R2 -Wf,—pvctl fullmsg *

i Segmentation fault
® -eC -eR

sxf90 -V -Cvopt -cfsx9 -R2 -Wf,—pvctl fullmsg —-eC “

O NaN

sxf90 -V Pmulti —-Cvopt -cfsx9 -R2 -Wf,-pvctl fullmsg,=init stack=nan “
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